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NEW QUESTION 1
A company has two sites: Site A and Site B. The administrator would like to manage the VMware vCenter inventories in both sites from a single vSphere Client
session.
Which vCenter feature must be configured?

A. VMware Certificate Authority
B. VMware Site Recovery Manager
C. vCenter Single Sign-On
D. Enhanced Linked Mode

Answer: D

Explanation: 
Option D is correct because it indicates that Enhanced Linked Mode must be configured to allow the administrator to manage the VMware vCenter inventories in
both sites from a single vSphere Client session. Enhanced Linked Mode allows multiple vCenter Server instances to share information such as tags, licenses,
roles, permissions, and policies. Option A is incorrect because VMware Certificate Authority is a service that provides certificates for vSphere components and
does not affect inventory management. Option B is incorrect because VMware Site Recovery Manager is a solution that provides disaster recovery and business
continuity for vSphere environments and does not affect inventory management. Option C is incorrect because vCenter Single Sign-On is a service that provides
authentication and authorization for vSphere components and does not affect inventory management. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vcenter.install.doc/GUID-9F9E3F8C-0E2B-4B

NEW QUESTION 2
An administrator Is looking to deploy a new VMware vCenter Instance. The current environment consists of 75 hosts and is expected to grow up to 100 hosts over
the next three years.
Which deployment size should the administrator select?

A. Medium
B. Tiny
C. Large
D. Small

Answer: D

Explanation: 
VMWare: Small environment (up to 100 hosts or 1,000 virtual machines) Medium environment (up to 400 hosts or 4,000 virtual machine)
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vcenter.install.doc/GUID-88571D8A-46E1-464 The administrator should select the small
deployment size for the new vCenter Server instance, which is suitable for an environment with up to 100 hosts or 1,000 virtual machines. The small deployment
size has 4 vCPUs and 19 GB of memory, which can handle the current and expected growth of the environment. The other deployment sizes are either too large
or too small for the environment. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vcenter.install.doc/GUID-88571D8A-46E1-464

NEW QUESTION 3
An administrator has Windows virtual machines (VMs) and VMware Tools is installed in each VM. The administrator performs a status check of VMware Tools
using vSphere Lifecycle Manager.
What is the VMware Tools status for the Windows VMs if the version of VMware Tools has a known problem and must be immediately upgraded?

A. Version Unsupported
B. Guest Managed
C. Unknown
D. Upgrade Available

Answer: A

Explanation: 
If VMware Tools has a known problem, the tools status will be Version Unsupported https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere-
lifecycle-manager.doc/GUID-12649CB

NEW QUESTION 4
An administrator is working with VMware Support and Is asked to provide log bundles for the ESXI hosts in an environment. Which three options Joes the
administrator have? (Choose three.)

A. Generate a combined log bundle for all ESXI hosts using the vCenter Management Interface.
B. Generate a separate log bundle for each ESXI host using the vSphere Host Client.
C. Generate a combined log bundle for all ESXI hosts using the vSphere Client.
D. Generate a separate log bundle for each ESXI host using the vSphere Client.
E. Generate a separate log bundle for each ESXI host using the vCenter Management Interface.
F. Generate a combined log bundle for all ESXi hosts using the vSphere Host Client.

Answer: BCD

Explanation: 
Option B, C and D are correct because they are valid methods to generate log bundles for individual or
multiple ESXi hosts using different interfaces. Option A and E are incorrect because they are not possible options to generate log bundles for all ESXi hosts using
the vCenter Management Interface. Option F is incorrect because it is not possible to generate a combined log bundle for all ESXi hosts using the vSphere Host
Client. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.troubleshooting.doc/GUID-9A94C3D1
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NEW QUESTION 5
An administrator Is performing maintenance activities and discovers that a Virtual Machine File System (VMFS) datastore has a lot more used capacity than
expected. The datastore contains 10 virtual machines (VMs) and, when the administrator reviews the contents of the associated datastore, discovers that five-
virtual machines have a snapshot file (-delta.vmdk flies) that has not been modified In over 12 months. The administrator chei kfl the Snapshot Manager within the
vSphere Client and confirms that there are no snapshots visible.
Which task should the administrator complete on the virtual machines to free up datastore space?

A. Consolidate the snapshots for each VM.
B. Inflate the disk files for each VM.
C. Delete all snapshots for each VM.
D. Storage vMotion each VM to another datastore.

Answer: A

Explanation: 
Consolidating snapshots for each VM will merge any snapshot files that are not associated with a snapshot in Snapshot Manager into the base disk file and free up
datastore space.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-53F65726-A23B
The presence of redundant delta disks can adversely affect the virtual machine performance. You can combine such disks without violating a data dependency.
After consolidation, redundant disks are removed, which improves the virtual machine performance and saves storage space.

NEW QUESTION 6
Following a merger with another company, an administrator is tasked with configuring an identity source for VMware vCenter so that all vSphere administrators can
authenticate using their existing Active Directory accounts. Each company has user accounts in their own Active Directory forests.
The following additional information has been provided:
• The corporate policy states that only Windows-based machine accounts are allowed in Active Directory. Which action should the administrator take to configure
vCenter Single Sign-On (SSO) to meet this requirement?

A. Configure SSO to use Active Directory over LDAP as the identity source.
B. Configure SSO to use OpenLDAP as the identity source.
C. Join the vCenter Server Appliance to the LDAP domain.
D. Configure SSO to use Active Directory (Integrated Windows Authentication) as the identity source.

Answer: A

Explanation: 
Integrated Windows Authentication is now depreciated (from v7). "The Active Directory over LDAP identity source is preferred over the Active Directory (Integrated
Windows Authentication) option." https://kb.vmware.com/s/article/78506

NEW QUESTION 7
An administrator is investigating user logon failures for a VMware vCenter instance
Where can the administrator find log files containing information related to user login activities?

A. On the vCenter Management Interface
B. On the ESXi host using the Direct Console User Interface (®)
C. On the vCenter Server Appliance
D. In the vSphere Client when viewing the vCenter virtual machine

Answer: C

Explanation: 
The administrator can find log files containing information related to user login activities on the vCenter Server Appliance, which is a preconfigured Linux-based
virtual machine that runs all vCenter Server services. The log files are located in /var/log/vmware/vmware-vpx/vpxd.log and
/var/log/vmware/sso/ssoAdminServer.log directories. References:
https://docs.vmware.com/en/VMware-vSphere/8.0/com.vmware.vsphere.troubleshooting.doc/GUID-5F9A7E49

NEW QUESTION 8
An administrator needs to consolidate a number of physical servers by migrating the workloads to a software-defined data center solution.
Which VMware solution should the administrator recommend?

A. VMware Horizon
B. VMware vSAN
C. VMware vSphere
D. VMware

Answer: C

Explanation: 
Option C is correct because VMware vSphere is the solution that provides a software-defined data center platform that can consolidate physical servers by
migrating the workloads to virtual machines. Option A is incorrect because VMware Horizon is a solution for virtual desktop infrastructure (VDI) and application
delivery. Option B is incorrect because VMware vSAN is a solution for software-defined storage that is integrated with vSphere. Option D is incorrect because
VMware NSX is a solution for software-defined networking that is integrated with vSphere. References: https://www.vmware.com/products/vsphere.html

NEW QUESTION 9
An administrator enables Secure Boot on an ESXi host. On booting the ESXi host, the following error message appears:
Fatal error: 39 (Secure Boot Failed)

A. The kernel has been tampered with.
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B. The Trusted Platform Module chip has failed.
C. The administrator attempted to boot with a bootloader that is unsigned or has been tampered with.
D. A package (VIB or driver) has been tampered with.

Answer: A

Explanation: 
The fatal error “Secure Boot Failed” may indicate that either the kernel or a package (VIB or driver) has been tampered with, which violates the Secure Boot
integrity check.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.security.doc/GUID-F8F105EC-A6EA

NEW QUESTION 10
An administrator plans to update the Supervisor cluster and has noticed some of the Tanzu Kubemetes Grid clusters are running an incompatible version.
Which action must the administrator take before proceeding with the Supervisor cluster update?

A. Update all Tanzu Kubernetes Grid clusters to the latest version prior to the Supervisor cluster update.
B. No action is needed - Tanzu Kubernetes Grid clusters will be updated automatically as part of the update process.
C. No action is needed - Incompatible Tanzu Kubernetes Grid clusters can be manually updated after the Supervisor cluster update.
D. Update incompatible Tanzu Kubernetes Grid clusters prior to the Supervisor cluster update.

Answer: D

Explanation: 
Option D is correct because it indicates that the administrator must update incompatible Tanzu Kubernetes Grid clusters prior to the Supervisor cluster update, as
this will ensure that there are no compatibility issues or disruptions during or after the update process. Option A is incorrect because it is not necessary to update
all Tanzu Kubernetes Grid clusters to the latest version prior to the Supervisor cluster update, as some clusters may already be compatible with the new version.
Option B is incorrect because Tanzu Kubernetes Grid clusters will not be updated automatically as part of the update process, as they require manual intervention
from the administrator. Option C is incorrect because incompatible Tanzu Kubernetes Grid clusters cannot be manually updated after the Supervisor cluster
update, as they may become inaccessible or unstable due to compatibility issues. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/vmware-vsphere-with-tanzu/GUID-9F9E3F8C-0E2B-4B6A
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-with-tanzu-maintenance/GUID-292482C2-A5FA-44 If a Tanzu Kubernetes Grid cluster is incompatible
with vSphere 8, upgrade the cluster before proceeding with the system upgrade.

NEW QUESTION 10
An administrator is tasked with looking into the disaster recovery (DR) options for a software-defined data center (SDDC).
The following requirements must be met:
•All virtual machines (VMs) must be protected to a secondary site.
•The source VMs must remain online until the failover.
•When failing over to the secondary site, application downtime is allowed
•The DR failover must be managed from the vSphere Client.
•Costs must remain as low as possible.
How can the administrator accomplish this task?

A. Configure VMware Cloud Disaster Recovery (VCDR) and combine it with array-based storage replication
B. Configure VMware a Site Recovery Manager and combine it with vSphere Replication.
C. Configure a subscribed content library on the secondary site.
D. Configure VMware Site Recovery Manager and combine it with array-based storage replication.

Answer: B

Explanation: 
https://blogs.vmware.com/virtualblocks/2017/11/29/vsr-technicaloverview/ 

NEW QUESTION 12
When configuring vCenter High Availability (HA), which two statements are true regarding the active, passive, and witness nodes? (Choose two.)

A. Network latency must be less than 10 milliseconds.
B. They must have a supported Wide Area Network (WAN).
C. They must have a minimum of a 10 Gbps network adapter
D. They must have a minimum of a 1 Gbps network adapter.
E. Network latency must be more than 10 milliseconds.

Answer: AD

Explanation: 
When configuring vCenter High Availability (HA), two of the requirements for the active, passive, and witness nodes are that network latency must be less than 10
milliseconds, which ensures reliable communication between them; and they must have a minimum of a 1 Gbps network adapter, which provides sufficient
bandwidth for data replication.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.avail.doc/GUID-F01B2F12-C5BB-4C5

NEW QUESTION 13
Refer to the exhibit.
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An administrator is tasked with adding new capacity to an existing software-defined data center (SDDC).
• The SDDC currently hosts two vSphere clusters (ClusterA and ClusterB) with different CPU compatibilities.
• vSphere vMotion and vSphere Distributed Resource Scheduler (DRS) are currently in use in the SDDC.
• The new capacity will be implemented by provisioning four ESXi hosts running a new generation of Intel Skylake CPUs.
• All workload virtual machines (VMs) must support live migration to any cluster in the SDDC.
The administrator noticed the running critical "ever virtual machine (VM) shown in the exhibit is not migrating using vSphere vMotion to the original Clusters A or B.
Which three steps must the administrator take to support this functionality? (Choose three.)

A. Power on the VM.
B. Disable the Enhanced vMotion Compatibility (EVC) on the VM.
C. Reboot the VM.
D. Configure the Enhanced vMotion Compatibility (EVC) on vSphere Cluster A and B to support Intel Skylake.
E. Power off the VM.
F. Configure the Enhanced vMotion Compatibility (EVC) on the VM to Intel Skylake.

Answer: ADE

NEW QUESTION 16
What are two use cases for VMware vSphere+? (Choose two.)

A. Enhance on-premises workloads by managing them through the VMware Cloud Console
B. Allow live migration between on-premises and VMware Cloud
C. Increase the performance of the native vCenter vMotion capability
D. Allow the creation of affinity and anti-affinity rules to be used during failover events
E. Simplify vCenter lifecycle management through cloud-enabled automation

Answer: AE

Explanation: 
https://www.vmware.com/products/vsphere/vsphere-plus.html https://blogs.vmware.com/vsphere/2022/06/vmware-vsphereplus-introducing-the-multi-cloud-
workload-platform

NEW QUESTION 21
An administrator needs to create affinity rules for the following vSphere cluster setup:
•The cluster contains two virtual machines (VMs) named app01 and app02.
•The cluster contains six hosts named esx11 through esx16.
•The app01 and app02 VMs run software that is licensed to run only on esx11, esx12, or esx13.
•vSphere Distributed Resource Scheduler (DRS) is configured
Which set of steps must the administrator perform to ensure that the licensing requirements are met for app01 and app02?

A. * 1. Add all the hosts to a host group.* 2. Create a VM-VM anti-affinity rule for app01 and app02
B. 1. Add the esx11 - esx13 hosts to a host group* 2. Create a VM-VM affinity rule for app01 and app02
C. * 1 Add the VMs to a VM group and the esx11 - esx13 hosts to a host group.* 2 Create a VM-Host required rule between the VM group and the host group.
D. * 1. Add the VMs to a VM group and the esx11 - esx13 hosts to a host group.* 2. Create a VM-Host preferential rule between the VM group and the host group

Answer: C

Explanation: 
Add the VMs to a VM group and the esx11 - esx13 hosts to a host group, which allows the administrator to group together virtual machines or hosts that share
common characteristics or requirements.
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.resmgmt.doc/GUID-0591F865-91B5-4

NEW QUESTION 22
An administrator wants to use tag-based placement rules on their virtual machine disks using VMware vCenter.
Which option would allow the administrator to achieve this?

A. Storage Policy Based Management
B. Storage I/O Control
C. vSphere Storage APIs for Storage Awareness (VASA)
D. vSphere Distributed Resource Scheduler (DRS)
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Answer: A

Explanation: 
https://vnote42.net/2020/01/15/vcenter-tag-based-vm-placement/

NEW QUESTION 23
Which two datastore types store the components of a virtual machine as a set of objects? (Choose two.)

A. VMware Virtual Machine File System (VMFS)
B. VMware vSAN
C. Network File System (NFS) 3
D. vSphere Virtual Volumes (vVols)
E. Network File System (NFS) 4.1

Answer: BD

Explanation: 
Option B and D are correct because they are the datastore types that store the components of a virtual machine as a set of objects, which are logical containers
that abstract physical storage resources. Option A, C and E are incorrect because they are the datastore types that store the components of a virtual machine as a
set of files, which are stored on a file system that resides on a physical storage device. References: https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.storage.doc/GUID-9F9E3F8C-0E2B-4

NEW QUESTION 24
An administrator runs a two-node vSphere cluster, which contains two domain controller virtual machines (VMs). The administrator wants to ensure that VMs run
on separate hosts without interfering with normal maintenance operations.
How should the administrator configure Distributed Resource Scheduler (DRS)?

A. Create a 'Must run Virtual Machines to Hosts' anti-affinity rule.
B. Create a 'Virtual Machines to Virtual Machines' anti-affinity rule.
C. Create a 'Virtual Machines to Virtual Machines' dependency rule.
D. Create a 'Should run Virtual Machines to Hosts' anti-affinity rule.

Answer: D

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.resmgmt.doc/GUID-793013E2-0976-4

NEW QUESTION 28
If a distributed switch uses the "Route based on physical NIC load" load balancing algorithm, what does the mean send or receive utilization of an uplink need to
exceed for the flow of traffic to move to the second uplink?

A. 75 percent of the capacity over a 30 second period
B. 60 percent of the capacity over a 30 second period
C. 60 percent of the capacity over a 40 second period
D. 75 percent of the capacity over a 40 second period

Answer: A

Explanation: 
The distributed switch calculates uplinks for virtual machines by taking their port ID and the number of uplinks in the NIC team. The distributed switch tests the
uplinks every 30 seconds, and if their load exceeds 75 percent of usage, the port ID of the virtual machine with the highest I/O is moved to a different uplink.
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-networking/GUID-959E1CFE-2AE4-4A67-B4D4-2

NEW QUESTION 31
An administrator is attempting to configure Storage I/O Control (SIOC) on five datastores within a vSphere environment. The administrator is being asked to
determine why SIOC configuration completed successfully on only four of the datastores.
What are two possible reasons why the configuration was not successful? (Choose two.)

A. The datastore contains Raw Device Mappings (RDMs).
B. SAS disks are used for the datastore.
C. The datastore has multiple extents.
D. The datastore is using ISCSI.
E. The administrator is using NFS storage.

Answer: AC

Explanation: 
SIOC configuration may fail if the datastore contains RDMs or has multiple extents, as these are not supported by SIOC.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.storage.doc/GUID-FB3F5C5C-D3F6-4
Storage I/O Control is supported on Fibre Channel-connected, iSCSI-connected, and NFS-connected storage. Raw Device Mapping (RDM) is not supported.
Storage I/O Control does not support datastores with multiple extents.

NEW QUESTION 32
An administrator is asked to segregate virtual machine (VM) traffic by VLAN on a vSphere standard switch The following requirements must be met:
•VLAN ID on the switch port group must be 4095.
•VLAN tagging must be done at the VM level. Which tagging mode is required?
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A. External Switch Tagging (EST)
B. None
C. Virtual Guest Tagging (VGT)
D. Virtual Switch Tagging (VST)

Answer: C

Explanation: 
The tagging mode that is required is Virtual Guest Tagging (VGT), which allows VLAN tagging to be done at the VM level. VGT requires that the VLAN ID on the
switch port group be set to 4095, which is a special value that indicates that packets from all VLANs are allowed to pass through. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.networking.doc/GUID-D35A0A1C-B6
https://kb.vmware.com/s/article/1003806

NEW QUESTION 34
Refer to Exhibit:

An environment has the following configuration:
•Resource Pool “RP-MOM? has a reservation of 6GHz and one running virtual machine (VM) "VM-M1? with 1 GHz reserved
•Resource Pool ^RP-KID? has a reservation of 2GHz, and expandable reservations is activated
The administrator creates two VMs, “VM-K1? and 'VM-K2?, in the ''RP-KID? resource pool with 2GHz reserved for each, and turns on “VM-M1 ?
Given this scenario, which statement is true?

A. The administrator must deactivate expandable reservations to turn on VM-K2
B. The administrator can create a third VM ( VM-K3?) at RP-KID and reserve 6GHz
C. VM-K2 can be powered on because it can get the resources needed from RP-MOM.
D. VM-K2 cannot be powered on because there are not enough resources in RP-KID.

Answer: C

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-resource-management/GUID-60077B40-66FF-4625 

NEW QUESTION 36
An administrator is tasked with looking into the disaster recovery options for protecting a database server using VMware vSphere Replication.
The following requirements must be met:
• The virtual machine must remain online during the protection.
• The virtual machine's snapshots must be used as part of the replication process. Which step must the administrator complete to accomplish this task?

A. Configure the virtual machine storage policy.
B. Enable guest OS VSS quiescing for this virtual machine.
C. Perform a full initial synchronization of the source virtual machine to the target location.
D. Configure network traffic isolation for vSphere Replication.

Answer: C

Explanation: 
https://docs.vmware.com/en/vSphere-Replication/8.7/com.vmware.vsphere.replication-admin.doc/GUID-C2493

NEW QUESTION 41
An administrator is adding a new ESXi host to an existing vSphere cluster. When selecting the cluster, the administrator Is unable to use the Cluster Quickstart
workflow to add and configure the additional host.
What could be the root cause of this issue?

A. The administrator has previously dismissed the Cluster Quickstart workflow.
B. The administrator must manually add the host to the cluster before using the Cluster Quickstart workflow.
C. The administrator has not been assigned the required permissions to use the Cluster Quickstartworkflow.
D. The administrator must enable the Cluster Quickstart workflow option in VMware vCenter.

Answer: A

Explanation: 
Option A is correct because it indicates that the administrator has previously dismissed the Cluster Quickstart workflow, which will prevent them from using it to add
and configure an additional host. To use the Cluster Quickstart workflow again, the administrator must enable it in the cluster settings. Option B is incorrect
because the administrator does not need to manually add the host to the cluster before using the Cluster Quickstart workflow, as this is one of the steps in the
workflow. Option C is incorrect because the administrator does not need any special permissions to use the Cluster Quickstart workflow, as long as they have
permissions to perform cluster operations. Option D is incorrect because there is no option to enable the Cluster Quickstart workflow in VMware vCenter, as this is
a feature of vSphere clusters. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vcenterhost.doc/GUID-9F9E3F8C-0E2
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NEW QUESTION 44
Which three features are only available when using vSphere Distributed Switches instead of vSphere Standard Switches? (Choose three.)

A. 802.1Q tagging
B. Port mirroring
C. Netflow
D. Configuration backup and restore
E. IPv6 support
F. IPv4 support

Answer: BCD

Explanation: 
Three features that are only available when using vSphere Distributed Switches instead of vSphere Standard Switches are port mirroring, which allows monitoring
network traffic on a virtual switch port; Netflow, which allows collecting IP traffic information from a virtual switch; and configuration backup and restore, which
allows saving and restoring distributed switch settings.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.networking.doc/GUID-D5960C77-0D1 https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.networking.doc/GUID-A59628EA-985 https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.networking.doc/GUID-E9EB9D18-692

NEW QUESTION 49
An administrator wants to create virtual machine (VM) templates and store them in a content library. The administrator would like to use the content library to
manage different versions of these templates so that reverting to an earlier version is an option.
How should the administrator create these templates?

A. Select a VM in the vCenter inventory.Clone the VM to the content library as a VM template type.
B. Select a VM template in the vCenter inventor
C. Clone the template to the content library.
D. Export a VM in the vCenter inventory to an OVF templat
E. Import the OVF template into the content library.
F. Convert a VM to a template in the vCenter inventory.Clone the template to the content library.

Answer: A

Explanation: 
Option A is correct because it allows the administrator to clone a VM to the content library as a VM template type, which can be used to create and manage
different versions of these templates in the content library. Option B is incorrect because it requires the administrator to convert a VM to a template in the vCenter
inventory first, which is an extra step. Option C is incorrect because it requires the administrator to export a VM to an OVF template and import it into the content
library, which are extra steps. Option D is incorrect because it requires the administrator to convert a VM to a template in the vCenter inventory and clone it to the
content library, which are extra steps. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-9F9E3F8C-0E2

NEW QUESTION 51
......
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